Fax Option Type C2551 (D555)
FAX Memory Unit Type B (G57817)



Fax Option Type C2551 (D555)
FAX Memory Unit Type B (G57817)

PARTS CATALOG

This catalog gives the numbers and names of parts on this machine.

1.Fax Option/Memory Unit (D555/G578)................ 2
Parts INdeX......c.oooiiiiiiiiei e 6

December 3, 2010



1.Fax Option/Memory Unit (D555/G578)

Fax memory Option (G578-17)

Fax Unit (D555)

§ 9
105
NA Only

ASIA Only

10

(] (] (]
(] Qi (o]
(0] (i) (]
(o) Q] (]
(] fuJ (]
(] (i (]

T

11 12

106

101




1.Fax Option/Memory Unit (D555/G578)

Index
No.

Part No.

Description

Q'ty Per
Assembly

O NN WN = -

[\ I G N
A WON-=2-20 0

D356 5132
D356 5134
D555 5180
B786 5740
D432 5700
B771 5050
D555 5230
D555 5231
D555 5233
D555 5234
B404 5821
H523 5350
B237 1543
B223 1530
B223 1536
B404 3861
B447 5182
G133 5777

[ ]

GWRCUS3 Board - NA

Gwfcu3 Board - EU
PCB:MBU:Ass'y (NA)

FCUIF-A Board
PCB:GWFCU-IF5:Ass'y

Speaker

Harness:Modular:Line
Harness:Modular:Line:EU
Harness:Modular:Tel:NA
Harness:Modular:Key Top-tel:EU
Handset Bracket (NA)

Telephone Cable (NA)
Sheet:Display:Multi Language (Asia)
Keytop:Trans:NA
Keytop:Trans:EU

SG3 Decal
PCB:SDRAM-DIMM:32MB:PC100
Decal:CE:EU

—_

P N N Y O UL QUL U U S U T G G

Ir;\?sx Part No. Description ES ;Q:SI;
101 | 0353 0060N | Bind Screw - M3x6
102 | 0360 3006N | Screw - M3X6
103 | 11050692 | Clamp:LES-0503
104 | 11050487 | Harness Clamp
105 | 11050050 | Clamp:CKN-20
106 | 1607 2251 | Ferrite Coer:K3 NF-75(N)BKO



O'Brien
Di-C1.5 RTB 27
Part added


Parts Index



Parts Index

. Page and

Part No. Description Ind%x No.
D555 5180 PCB:MBU:Ass'y (NA) 3- 2
D555 5230 Harness:Modular:Line 3- 6
D555 5231 Harness:Modular:Line:EU 3- 6
D555 5233 Harness:Modular:Tel:NA 3- 7
D555 5234 Harness:Modular:Key Top-tel:EU 3- 7

- Page and
Part No. Description Ind?ax No.
B223 1530 Keytop:Trans:NA 3- 11
B223 1536 Keytop:Trans:EU 3- 11
B237 1543 Sheet:Display:Multi Language (Asia) 3- 10
B404 3861 SG3 Decal 3- 12
B404 5821 Handset Bracket (NA) 3- 8
B447 5182 PCB:SDRAM-DIMM:32MB:PC100 3- 13
B771 5050 Speaker 3- 5
B786 5740 FCUIF-A Board 3- 3
D356 5132 GWRCUS3 Board - NA 3- 1
D356 5134 Gwfcu3 Board - EU 3- 1
D432 5700 PCB:GWFCU-IF5:Ass'y 3- 4
G133 5777 Decal:CE:EU 3- 14
H523 5350 Telephone Cable (NA) 3- 9




Part No.

Description

Page and

Index No.
0353 0060N | Bind Screw - M3x6 3- 101
0360 3006N | Screw - M3X6 3- 102
1105 0050 Clamp:CKN-20 3- 105
1105 0487 Harness Clamp 3- 104
1105 0692 Clamp:LES-0503 3-103
1607 2251 Ferrite Coer:K3 NF-75(N)BKO 3- 106

Part No.

Description

Page and
Index No.




	1.Fax Option/Memory Unit (D555/G578)
	Parts Index

